Consider the following reaction, (2013 Main)
*MnO; + yC,0; +z:H —— aMn®'+ 2yC0, +1;H30

The values of x, vand z in the reaction are, respectively
(a) 5,2 and 16 {b) 2,5and B
{c) 2,5and 16 {d) 5,2and B

The half equations of the reaction are
MnQ; — Mn*

C,0; — OO,

The balanced half equations are
M0} + 8H' + 5 — Mn®" + 4H,0

G077 — 200, + 2¢

On equating number of electrons, we get
IMnOy + 16H™ + 10e — IMn™ + EH,O

50,07 — 10C0, + 106
On adding both the equations, we get

. . . 16
IMRO] + 5C,0; + 16H" —— IMn™" +2x 500, + — H0

Thus x, vand z are 2, 5 and 16 respectively.



